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ELEMENTS OF BOOK-KEEPING AND ACCOUNTANCY
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Instruction : Attempt all questions. Marks allotted to each question are mentioned against them.
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The undermentioned Trial Balance has been prepared from the books of Ghanshyam 1ass & Sons on 31 st
December, 2042 -

Debit Balances 4 Credit Balances 4
Opening Stock 40.000 Sales 4.52.500
Purchascs 391000 Purchasces Returns 1.000
Carriage Inwards 2.000 Sundry Creditors 27.000
Sales Returns 2,500 Discount Recetved 2.200
Sundry Debtors 55,000 Capital 1,20.000
Salary 30,000 Bank [oan 20.000
Carriage outwards 4,000 (Interest 12% annual)
Printing & Stationary 2,500 Provision for bad 1.800
Cash at Bank 10.000 ana doubtiul Debts ¥
Discount Allowed 2,000
Furniture 15,000
Generat Expenses 5,000
Drawings 10.000
('ash in Hand 1.200
Machinery 50.000
3ad Debis 1,604
Interest on Bank L.oan 1.200
Insurance charges 1.500

6,24,500 6,24,500

Keeping i mind the undermentioned adjustments, prepare trading and Profit & Loss Account and Balance
Sheet for the vear ending 3 1st December, 2012 -

(4)  Thevaluation of closing stock was § 335,000,

(b)  Depreciate Machinery by 10% and Furniture by 20%.

(¢} Make a provision of 5% for Bad and Doubtful Debts on Sundry Debtors.

{d)  The amount ot outstanding salary was ¥ 2,000.

{¢)  Interest on Bank Loan was outstanding tor six months.
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What is Bank Reconceiliation Statemen: 7 Why it is prepared ?
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Detine Cheque. To what extent the use of cheque is responsible for having a diilerence between the
palances of Cash Book and Pass Book
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According to the Cash Book of a businessman on 31st December, 2013, there was a debit balance
ot T 5200 in the Cash Book. After comparing with the Pass Book. it appeared that the cheques
amounting to T 980, which were sent to the Bank for colleciion, had not been collected by the Bank
as vet. On 28th Decemnber. the businessman had issued cheques for ¥ 1,600; but the payment of
these chegues had not been taken from the bank up till now. On 31st December, ¥ 60 have been
credited as interest in the account of customer but this has not been entered in Cash Book, Bank has
churged T 10 as Bank Charges, this too has not been entered in Cash Book. After preparing Bank
Reconeiliation Satement, findout the balance of Pass Bogk.
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What is Bank Column Cash Book ? Explain its importance. With the help of five imagimary entries
prepare a Bank colurmn Cash-Book.
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Write the answer o foHowing —

By WhatisaBill of Exchange ? What is the dificrence betweenia Bili of Exchange and Promissory
Note ?

(i)  What are Noting Charges ? Who makes the payment of Noting charges ?

aiy Whar do vou understand by the renewal of a Bill of Exchange ? What1s the procedure of the
renewal of a Bill of Exchange ?

(iv)  Whatare davs of grace ? How shall you find out the due dae of a Bill of Exchange ?

vy Whatiza 31t ofAccommodation ? When docs the need of an accommuodation bili arise ?
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On Ist January, 2009 Bhagat singh sells goods amounting to ¥ 1,000 to Bhagwan Singh. Cn the same
day he draws a Bill on Bharwan Singh for three months, Bhagwan Singh accepted the Bill. On 4th
January. 2009 Bhacat Singh discounted the Bill trom his Bank at the rate of 6% per annum. On due
date the Bill is dishonoured. Bank paid ¥ 13 as noting charges. On this same date Bhagwan Singh
accepts a new biilwith € 10 as mterest for two months. On due date Bhagwan Singh makes the
pavinent of the Bill. Make necessary journal entries in the books of Bhagat Singh and Bhagwan
Singh,
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What do you understand by rectification of errors ? How will yvou rectify the one sided and double
stded crrors 7
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Why does the need of rectitication of errors arise before preparing the final accounts ? If you do not
rectify the errors, what will be its affect on final accounts ?
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Give necessary journal entries to rectify the undermentioned errors —

(1)  Tactory Building was expanded by ¥ 65.000. This amount was debited in Repairs Account,

(1) The payment of ¥ 3500 received from Bhagat Singh was credited in the account of Bhapwan
Singh.

(iii} There was an amount of € 500 as Sales Returns. But it was not entered in the books at all.

(iv) 3 1500 was paid in cash as salary to Mohanlal which was debited in his personal account.

(v} T5.000 was received as the payment of a Bill receivable from a customer. This amount was
credited in his personal account.
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What is depreciation ¥ What are the main causes of deprecialion ¥ Whether it 1s essential o
make provision for depreciation in the books ?
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Fxplain cleary the Fixed Instalment method and narrate its mertts and dements.
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A machinery was purchased on 1t January, 2011 for €45.000. An amount of T 2,000 as carriape
charges and T 3,000 as establishment charges were paid. it was decided to make a provision of 1024
depreciation annually enthe value of machinery. Prepare Machinery Account for three years according

to Fixed Instalment method and Diminishing Balance Method.
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